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CLASS-XII (2014-2015)
QUESTION WISE BREAK UP
Type of Question Mark per Total No. of Total
Question Questions Marks
VSA 1 6 06
LA-I 4 13 52
LA-I11 6 7 42
Total 26 100

1. No chapter wise weightage. Care to be taken to cover all the chapters.

2. The above template is only a sample. Suitable internal variations may be made for generating
similar templates Keeping the overall weightage to different form of questions and typology
of questions same

CHAPTERWISE MARKS in Class-XIl (CBSE)
Sr. TOPICS MARKS
No V SA(1IM) | S A (4M) LA Total
(6M) Marks

la Relation & Function 1 Nil 1

1b Binary operation 1 4 10

1lc Inverse Trig. Func 1 1 Nil 5

2.2 Matrices 1 9

b Determinant 1+1+1 1 Nil 4 13

3.a. | Continuity, Differentiability Nil 1+ 1+1 Nil 12

b. Applications Of Derivative Nil 1 1 10

C. Integrals Nil 1+1 Nil 8 44

d Applications Of Integrals Nil Nil 1 6
e Differential Equations Nil 1+1 8
4.a Vectors 1 1 1 11 17
b | Three Dimensional Geometry OR 1 6
5. Linear Programming Nil Nil 1 6
6. Probability Nil 1 OR 1 10
TOTAL 6 13 7 100
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[Model Test—08/XI1 (14-15)_ 13™ Nov’14] MODEL TEST [FM—100 /Time—180 min.]

i)
i)

10.

11.

12.

(Pre-Board’2015 CBSE)
General Instructions :
All questions are compulsory.
The question paper consists of 26 questions divided into three sections A, B and C. Section A comprises
of 6 questions of one mark each, Section B comprises of 13 questions of four m \egch and section C
comprises of 07 questions of six marks each. \
All guestions in Section A are to be answered in one word, one sentence or a:
requirement of the question. /:)
There is no overall choice. However, internal choice has been provided in
each and 02 questions of six marks each. You have to attempt only one of t
questions.
Use of calculators is not permitted. You may use logarithmic tables, i

er/thecexact

Section-A (01 mark each)

If f: R >R is defined by f(x) = 3x*-3x +2, fi
Find the value of (tan™1+tan™2+tan™3).

Find the value of x if 2{1 3} {3 O} {5 6]
0 x 1 2 1 8

2 - 2 B /
If A= 3 V3 , then find A Q
MR &
5 2011 7
f = 1= P then fin
4 3] |18 6| |c

Find the value of ‘m’ for which m(i

Section-B (04 marks each ) |
)
[

x
Let A=N x N and * be a bin:

3a
-b+a 3b
-c+a -C+b

Sth that

Find the derivative of g,-1 2% with respect to gog-t 1=X" .
1+x2 1+x
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13.
14.

15.

16.

17.

18.

19.

OR,

20.

21.

OR,

22.
23.

24,

2 2
Find the equation of the tangent and the normal to the curve x3 +y?3 =2 at point (1, 1).
Evaluate : ISin_l\/Idx OR, Evaluate - J'Sln X+COSX
a-+X

2
Evaluate the integral f(3x2—x)®< as limit of sum.

1
Form the differential equation of the family of circles in the 3" quadrant and tou
axes.

Find the particular solution of the following differential equation : ==+ y¢
y

Given that y =0 when x =2~

Find the equation of the plane, which is parallel to x-axis and passes thr
the planes . (I-I—j-l—k) -1=0 and r. (2|+3] k +4=0.

A random variable X has the following probability dﬁb&m

X 0 1 2 4
PX) | 0 k | 2k 2k 3k

Determine (i) k (ii) P(X<3) (iii) P(X>6) (i

Section-C (06 marks each )

Find the values of X, y, z, if the matrix A =

A water tank has the shape of an inverte axis vertical and vertex lowermost.
Its semi vertical angle is tan*(0.5). Water\i t at a constant rate 5 cubic meters per hour.

Find the rate at which the level of t ter is rising at the instant when the depth of water in the tank is
4m.

units
Find the equation\of\the plane through the intersection of the planes 3x -y +2z=4 andx+y+z=2
and passing throu Iso find the distance of the plane from the origin
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OR,

25.

26.

Find the shortest distance between the lines whose vectopequatlons are r=(1— t)| +(t— 2)j+ (3- 2t)k

and T = (L+t)i+(2t—1)j+ (~1-2t)k . N
A retired person has ~70,000 to invest in two typ of bond Flrst yle/lbs a
of 8% on the amount invested and the second type bond y ds 1

invest minim 10,000 in flrsttype an ret n 0 0 seb nd tb/p o\
his investment so as to get maxim LOfI v S ment

should start saving at an em o\r i retm me t yd)Yl e som L’ivenJAes ?
\ ¢ ‘ 1 \

A man is known to speak futh out d)f4 tl Hd Jou adie and reports that it is a six. Find the
|

probability that it is actuaib | U
\ \
| J

“Learning is a Treasure,
which accompanies

Its owner everywhere.”
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